
Name: _______________________________________________     Date: __________

Choose the letter of the best answer.

1. In the first half of the 1800s, which of the following was most likely to be a political liberal?

 A. a peasant

 B. a revolutionary

 C. a middle-class merchant

 D. a wealthy property owner

2. A key characteristic of nationalism is

 A. a shared culture.

 B. a flag.

 C. a president.

 D. a supply of weapons.

3. Which elected ruler of France who declared himself emperor?

 A. Louis Blanc

 B. Louis-Philippe

 C. Louis-Napoleon

 D. Alphonse de Lamartine

4. By 1849, most of Europe was under the control of the

 A. liberals.

 B. radicals.

 C. peasants.

 D. conservatives.

5. Which of the following issued the Edict of Emancipation?

 A. Nicholas I

 B. Alexander II

 C. Alexander III

 D. the Decembrists

6. How successful were the Revolutions of 1830 and 1848?

 A. Very successful - each revolutionary group achieved its goal.

 B. Only the Greek Revolution was successful.

 C. The liberals won in the Ottoman Empire.

 D. None achieved their goals.
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Answer Key

1. C. a middle-class merchant

2. A. a shared culture.

3. C. Louis-Napoleon

4. D. conservatives.

5. B. Alexander II

6. D. None achieved their goals.



Standards Summary

CA 10.2.5 Discuss how nationalism spread across Europe with Napoleon

but was repressed for a generation under the Congress of

Vienna and Concert of Europe until the Revolutions of 1848


